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QUESTION 1

What is the minimum number of received SMS messages that a JTWI device must be able to concatenate? 

A. no minimum 

B. 5 

C. 3 

D. 10 

E. 32 

Correct Answer: C 

 

 

QUESTION 2

Which three statements are true regarding the handling of wireless connections? (Choose three.) 

A. Network connections should never be performed on a separate thread, so problems can be handled quickly. 

B. Performing network operations on the same thread used by the display is likely to block refreshes of the display until
the network operations complete. 

C. The connection could unexpectedly terminate while processing the input or output streams. 

D. Devices can only support one HttpConnection at a time; therefore, network access from multiple threads must be
serialized. 

E. A network connection could interfere with other services on the device, such as the ability to receive phone calls or
SMS on a phone. 

Correct Answer: BCE 

 

QUESTION 3

A MIDP 2.0 compliant device creates an HTTP connection to a server that supports HTTP 1.1. Which is true? 

A. The device definitely supports HTTP 1.1. 

B. The device definitely does NOT support HTTP 1.1. 

C. The device may or may NOT support HTTP 1.1. 

D. There is no such thing as a 1.1 version of HTTP. 

Correct Answer: A 
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QUESTION 4

Which two events can result in the removal of a MIDlet\\'s dynamic push connection registration? (Choose two.) 

A. Using a call to PushRegistry.removeConnection(). 

B. Using a call to PushRegistry.unregisterConnection(). 

C. Opening the connection using Connector.open(). 

D. Using a call to PushRegistry.registerConnection(). 

E. When MIDlet.destroyApp() is called. 

F. When the MIDlet is uninstalled. 

Correct Answer: BF 

 

QUESTION 5

Which two specifications are mandatory in JTWI 1.0? (Choose two.) 

A. Location API 

B. MIDP 2.0 

C. WMA 1.1 

D. WMA 1.0 

E. MMAPI 1.1 

Correct Answer: BC 
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